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(1444 _ SARDAR PATEL UNIVERSITY
Fng. B.Se.~ IV SEMESTER EXAMINATION
"COMPUTER SCIENCE

US04CCSCoa: Operating System

Date: 11/04/2013, Wednesday - Time, 10,003 1o 01:00pm . May, Margs: 79
Multiple choice of Question: : 10

(1 The full form of gy 1,

(a) Java Virtuality Machine (b} Java Vipgye Machine
(c) Java Viptygj Machine (d) None of above

2] . dealt with allocation of the Processor, Switching between '
- Processes whep interrupts oceurred or timepg €Xpired, -

(a) Layer ¢ (b) Layer2 (¢) Layer 4 (d) Layer s

[3] The Primary goa] of an operating system i to make the computer
System convenient ¢,

(1) Reag - (b) Copy (c) Paste . (@) Use

4] The full form of pcp i

(a) Programming Control Blck (b) Programming Central Blgek
{¢) Process Control Blge (@) Procesg Central Block

{5] The objective of Is to have SoIne procesy Funning at a1
times, 50 a5 ¢4 maximize Cpy utilization,

(a) Multi-design ' (b) Multiprogramming
(e) Multi-process (d) Both (a) and b)

[6] In scheduling, 5 Priority js associated with ¢ach procegs,
(@) Majority (b) Minority (c) Pnjiority (d) None of above
[7] The memory address startg from ~—_in computer, |
(a) 0 (zero) (b) 1 (one) (c)2 (two) (d) None of above

[9] The Problem places ng Practical Iimit op the size the buffer,
(a) bounded-buﬂ‘er Producer-consypey

(c) limited-buffer Producer-consymer
(d) none of above

{10] The concurrent procegses executing in the operating system may be
Either independen¢ Processes gr ‘

(a) Cooperating processes (b) Join processes
(¢) Combine Processes (d) none of above

(P10
. |



Q.2

Answer the following questions in short (Ahy 10). 20

[1] What is file'? List the activities of OS in File Management.
[2] List'and explain the components of a Computeyr System.

. [3] What is the function of Layer 1in Layered Systems?

Q3

Q3

Q4

Q.4
Q5

Q.5

Q.6

Q.

[4] What is stream — oriented device?

{5] What is the function of program counter in PCB?
{6] What is DMA? "

{7] Whatis Swapping Process?

-[8] What is Paging?

[9] What is Segmentation? _

(10} Differentiate: unbounded-buffer producer-consumer problem and
bounded-buffer producer-consumer problem? ‘

[11] What is process syn_chronization?

[12] What is dead lock?

{A] Explain the function of Process iﬁanagenﬂent Operating System. 5
(B] Explain Multi-user Operating System. 5

. OR

[C] Explain the function of Memory Management Operating System. 5
{D] Explain Time Sharing Operating System. 5
(Al Draw a model of /O organization and explain in brief. - - 5
[B] Write a short note on “Process Creation” Ve 5

‘ OR o
Write a brief note on Priority Scheduling and Round Robin Scheduling. 10

[A] Discuss in brief the ‘Address Bindings’. 5

[B] What is Contiguous Memory Allocation? Explain. 5
OR
[C] Explain the Demand Paging along with jts advantages and 5
disadvantages. _
{D] Explain in brief the Optimal Page Repiacement Algorithm. 5
Write a short note on «Dead lock characterization” and “Producer— 10
Consumer problem”. - SRR
oR : '
Write a shoxt note on Cooperating'P'rocesses and Critical-Section 10
problem. ST
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